vf=vi+at

Av_vf—vi REST
=0

|a= final — initial
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P11—2.2—a=;Notes CTMT v; =
Find "a" if a car gets Find "t" if it takes a boat from Find "v"if a fisha =5—
m m s
to 39— in3s fromrest. restto36— accelerating at 95—2? for 13 seconds from rest?
a= E t|v Av Av Av Av
t ofo a=— a=— a=— a=—
390 t t A t
a=—5—- 113 _ 36 Av 5__17 Av = at
@ 2|26 I=7 L= 13 Av =5x13
S1En 36 6
3139 X9 =—xt
Obviously! 9t = 36
v=0 v =139 ot

a=9
Find "a"rr?f a rarlglit that accelerates Find "v" of a fish get if it accelerates
. m
from B?to 24? in 4 seconds. fromrest at 5— for 13 seconds?
s
v OR _—
—E v vf=vi+at a:—f :
24-8 =3 vr =0+ 5(13) t
= v s at = ve — v;

=770 5=
:

How long to accelerate from

m m m
6— to 18— at 2—2?
S S s

vp =v;t+at

m
How long to accelerate to 10?

m,
fromrest at 2 57!

CIZE a:z vf=vl-+at vf:vi+at vf=vl~+at
50 1; 10 =0 + 2t 18=6+ 2t t_Uf—‘Ui
_ 12 = 2t -
- t=— a
tx2 t><t 6110 OR t_18_6
2t =10 _ -
t=— 2

Find the initial velocity of a truck that

How fast does a car get accelerating

m m

reaches 25— acclelerating at 5— in 2 seconds?
s s

m m
at 3 2 from 10? for 6 seconds?
Ve =v; +at vp =v; +at

25=Ui+5(2) vl-=17f—at
5—5(2)

v, =104 (3)(6) 25 = v; + 10 2
= v =
D LS
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| vf=vi+at|

vf = v} + 2ad

P11-2.2- v = v; + at, vf

Find the Acceleration of a Bear reaching

m
aVelocity of 15; from Rest in 5s?
v=20

N —

= v? + 2ad Notes

How Far did the Bear get in that time?

G=2=D,

g KGR

0|0 vy =v; +at

1|3 v; _ alt vf= v} + 2ad vf = v{ +2ad

2[6 vy 157 =02 +23)d _Yf

3|9 a= 324=0+6d " 2a

4]12 15 324 = 6d g 15
Glisp 7% —2(3
Obviously! @ Algebra @

Isolate 1st

How far does a cheetah get running at

m m
6— accelerates at 3— for 4 s.What is her vs?
s s?

How Far did the Cheetah get in that time?

a=3
v=6 t
2 _ ..2
d=7=148 vi= v} + 2ad vy =vi +2ad
e = 1+ at 182 = 62 + 2(3)d Vr— Wi
F 324 =36 + 6d 2a
d=48m

Find the v of a boat if it accelerates

m m
at 4— from 25— in 125m?
s

v=4v:?
+> [

d =125

vf = v} + 2ad
vf = 25% + 2(4)(125)

vf = v} + 2ad

vp = /vlz + 2ad

Find v; of a whale if it accelerates

m m
at 5—2t0 75 — in60m?
S S

a=5
v=7=709 v=75
| =—> | —
d =60

vf = v} + 2ad vf = v{ + 2ad

75%2= v? + 2(5)(60) [

— 1,2 v; = |vF —2ad
vf = 1625 5625 = v{ + 600 l i
vy =4/25% + 2(4)(125) [EA5E _ —2(5)(60)
i o

64

vfz = v? + 2ad
82 =22+ 2(a)(12)

60 = iia

vf — v;
=4+ 24q =74
82_22

=202
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